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1- I = Area = 0.5 (1+5) x 4 = 12 N.s (x) 

2- F =  I / ∆ t =  12 / 5  = 2.4 N 

3-  (B ) (x .) 

  (A ) (-x .) 

4- 5                  – Af8 = v-5) →  – Af16 = 2 (v-) → Aiv – Af(v A= m Aiv Am – Afv A= m iAP -f  A= P AP ∆ 

 , = 3m/s Af3m/s → v-=  Af→ v  

∑pi = ∑ рf  →  pAi + pBi = pAf + pBf  →  mA vAi + mB vBi = mA vAf + mB vBf                                                         -5 

→ (2x5) + 0 = (2x-3) + (8 x vBf) → 10 = -6 + 8 vBf  → vBf = 2 m/s , x   

  ∆ KEB = KEBf - KEBi = 0.5 x mB x vBf
2 – 0 = 0.5 x 8 x 22 = 16 J                                                     

6-

7-τ = r F sin θ   

 ∑τ = 0 → τ1 + τ2 = 0 → - r1 F1 sin 143 = - r2 F2 sin 90 → 0.3 x 50 x 0.6 = 0.1 x F2 x 1                  -8 

 → 9 = 0.1 F2 → F2 = 90 N , -y 

τcouple = 2 r F sin θ = F l sin θ                                                                                                             -9 

ωf = ωi + α t = 0 + 4 x 2 = 8 rad/s                                                                                                    -10    

∑τ = I α = 0.8 x 4 = 3.2 N.m  11-                                                                                                             

 

LA   =   IA ωA  =   IA  =           A   = (2 rB)2  =  4 rB
2  = 4/1                                                                 -12 

LB        IB ωB        IB                          rB
2           rB

2 

                                                B 

 

KER = 0.5 I ω2 = 1 x             x ω2 =  1  x ( 2  x 1  x 4 x 10-2) x 16 = 0.064 J                                    -13 

                             2                            2        5     2 

 

14-  

15-  

Ɛ = 12 – 3 = 12 V  ,  Vr = I r → 3 = I x 2 → I = 1,5 A                                                                     -16 
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E = P x ∆t → 36 = 3.6 x ∆t → ∆t = 36 / 3.6 = 10h = 10 x 60 = 600 min 17-                                          

P = I V = 15 x 240 = 3600 W =  3.6 KW  

Is =  V     ,  Ip =   V  =  3 V      →     Ip   =  3 V   =  9                                                                       -18  

       3R                 R        R                Is         R 

                              3                                      V 

                                                                     3R 

19-                                                                                                                                                              

Vaa = 0 → I1(1 + 5) – (2 x 3) – 6 = 0 → 6 I1 – 12 = 0 → 6 I1 = 12 → I1 = 2 A   

I  = 2 + 2 = 4 A  

Vaa = 0 → (-4 x 2) – 2 (1 + 5) + 6 + Ɛ2 = 0 → – 14 + Ɛ2 = 0 → Ɛ2 = 14 V         

20-  

v =  d   =  2 π r  =  2 π r    =  π r x 104 m/s   → q  =    v   =    π r x 104   =  π    x 106 C/kg             -21 

        t           t        2 x 10-4                                  m      B r      6 x 10-2 x r      6 

 22-  

   

23-  

N  =  θ   =   270   =   3      → B  = μ. N I  = 3 x 4π x 10-7 x 6  = 9π x 10-6 T                          -24 

       360       360        4                                 2 R      4 x 2 x 1 x 10-1 

25-   

FB  = μ. I1 I3  =         μ. I2             =  F ------------- 1 →     μ. I2     =   12 x 10-2 F  ------------ 2     

  l       2 π r13      2 π x 6 x 10-2                                               π 

FB  (2) =  F12  +  F32  =         μ. I2          +       μ. I2          x2   =        3 μ. I2       = 3 x 12 x 10-2 F       

                       l          l        2 π x 4 x 10-2      2 π x 2 x 10-2   x2          8 π x 10-2            8 π x 10-2 

→ FB  (2) = 4.5 F ,  
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∆ Ф = Ф2 – Ф1 = ∆ B A cos θ = (2B - B) A cos θ = B A cos 30                                                      -26 

A = π r2 = 4π x 10-4 m2   ,  ∆Ф = ∆ B A cos θ = (0 – 0.25) A cos 0 =  - 0.25 x 4π x 10-4 x 1          -27 

= - π x 10-4 Weber →     Ɛˋ = - N ∆Ф = - 100 x - π x 10-4 = π V    

                                                       ∆t             1 x 10-2 

28-   

P2 = V2 I2 → I2= P2 / V2 = 18 / 3 = 6 A  , N1  =  V1   →  600 =  V1   →  V1 = 9 V                            -29 

                                                                  N2        V2         200       3 

V1  =  I2    →  9  =  6   →  I1 = 2 A 

V2       I1         3       I1 

∆V = 420 sin (400 π x  1  ) = 420 sin ( π ) = 420 V , ω = 2 π f → 400 π = 2 π f → f = 200 Hz 30-      

                                    800                     2 

 R L C 31- 

Xc =   1            ,    Xl  = ω L                                              R L C   -32  

        ω c 

33-   

34-  

IR = ∆VR = (7 – 0.7 – 0.3)  = 4 x 10-3 A = 4mA                                                                                 -35 

          R           1.5 x 103 

36-  

Ф = h fo →  fo = Ф  = 4 x 1.6 x 10-19  = 1015 Hz  ,    λ = c  = 3 x 108  = 3 x 10-7 m = 300 nm         -37   

                            H        6.4 x 10-34                                  fo      1015 

KEe = Eساقط   -  E49 = 613 – 662 =  مشتت Kev                                                                                      -38 

39-λ = h     

                                                                                         m v  



هل في الفيزياء                إعداد 
َّ
مالس

ِّ
 الله نوفل  : ياسر عبدالمعل

 ~16 ~   
 

40-

L = n h  = 4 h = 2 h 41-                                                                                                                            

       2π       2π      π 

42-

43-   

44 -                 2                                                                                               =    16   =     DA     o= r Dr 

2           BA     o= r Br 

 

45-                                                                               x 931 Mev )nucleusm –x n)  nx P + m p(m(BE =  

 A                                  A   

x 931 Mev )nucleusm -(1.007 x 6 + 6 x 1.009) (→ 7.7 Mev =  

                                                    12 

x 931 Mev )nucleusm -) 6.054+  6.042((Mev =  4.92→  

= 11.997 amu nucleus→ m nucleusm -→ 0.099 = 12.96  

46-

t ½ = ln (2) → λ = ln (2)                                                                                                                  -47 

              λ                  2 

48-

49-

50-

 

 

μ




